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M 1 Bt " =

# R B WK s+ & H g =® BHil &1 =
f@1.8mLlE 10. 3-2.50 % 3. 00 HEBIRRFARNK Y (ESHEER) 2.80 3

TRERET RCAOLLTF  t=14cm 2
fgl. 8mKi&H 21.7+34.8 HEEHERARELY 56. 50 57

TERET MAOLLTF t=14cm 2
f@1.8mLlE 10. 3-2.50 % 3. 00 HEBIRRFANK Y (ESFEER) 2.80 3

TERET MAOLLTF t=14cm 2
96. 80+26. 50-56. 50-2. 80 64. 00 64

FREEIE 121, 8mKR i 2
7 £ B ALEAS (20F) 43.7+53. 1 HEMAEME L Y 96. 80 97

RET t=4cm W<1.4m .
BEZHEAs (20F) 4.1+29.9-2.50x3.00 HEBIRRFARK Y (ESHFEER) 26. 50 27

RET t=4cm W=1.4m m?2
BHO. 28m°%& 65.02 - 31.78 33 24 33

EERRT DID#E 4t-10km 3
AsH BHO. 27830 (96. 80+26. 50) x 0. 04 193 g

EBIUuET 4t-3. OkmLLF 3
4.93 4.93 5

FRI7IL FRNIBE m®
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m B % B &

£ L7 2 K & Hi = =® By #% =2
(1.00x0.32-0.004 " 2x3.14/4) x2.8 = 0.90
T T As140-4
(0.94x0.32-0.120 " 2x3.14/4) /2% 0.5 = 0.07
Co&ir+ T
(0.60x0.32-0.004 " 2x3.14/4) x9.6 = 1.84
T T L% 80-4
((1.00x1.00+0.60x1.00) x0.40-0.09"2x 3. 1414/4 % (1.00+1.50)) x1.0 = 0.62
KD I+ T
BHO. 28m® &t 31.78 32
HRET FEEL m?
0.60x0.42x76.2 = 19. 20
T TAs 80-4
0.60x0.6x1.8 = 0. 65
T TAs 98-4
0.60x0.77%x8.6 = 3.97
T TAs115-4
0.60x0.82x0.4 = 0.20
T T As120-3
0.60x0.93%x1.8 = 1.00
T TAs131-4
0.60x1.02x2.8 = 1. 71
T T As140-4
1.50 x (0. 833 % 0. 904+ (0. 833+0. 293) /2 x 0. 54+0. 224 x 0. 293) - ((0. 30+0. 94) /2 x 0. 32
Co&ir+ T
+(0.763+0.470) /2 x 0. 50+ (0. 224+0. 638) /2 x 0. 50) x 0. 50 = 1.32
0.60x0.42%9.6 = 2.42
T T L% 80-4
(1.00x1.00+0.60x1.00) x0.82x1.0 = 1. 31
K I+ T
1g1. 8m=*kiH 21.7+34.8 HEEHERARELY = 56. 50 57
TERET RCA0LLTF t=14cm 2




£ L7 2 K & H =1 =® By #% =2

0.60x0.86x76.2 = 39.32
+ T As 80-4

0.60x1.04x1.8 = 1.12
T TAs 98-4

0.60%x1.21x8.6 = 6.24
T+ TAs115-4

0.60x1.26x0.4 = 0.30
+ TAs120-3

0.60x1.37x1.8 = 1.48
T TAs131-4

1.00x1.46x%x2.8 = 4.09
+ T As140-4

1.50x (1. 113x 0. 904+ (1. 113+0. 573) /2 x 0. 54+0. 573 x 0. 224) +0. 60 x 0. 10 x (0. 454+0. 763+0. 224) = 2.47
Co&ir+T

0.60x0.90x9.6 = 5.18
T T L4 80-4

(1.00x1.00+0.60x1.00) x1.46%x1.0 = 2.34
KD I+ T

(24. 4+34.8+10.3-2.50x 3. 00) x 0. 04 SEGHRERAR K Y (BEHAEER) = 2.48
AEHFTEHRY
BHO. 28m* it 20. 49 20

WIERT hyyav AR 3

(0.60x0.32-0.004 " 2x3.14/4) x16.2 = 14. 63
+ T As 80-4

(0.60x0.32-0.004 " 2x3.14/4) x1.8 = 0.35
T TAs 98-4

(0.60x0.32-0.004 " 2x3.14/4) x8.6 = 1.65
T+ TAs115-4

(0.60x0.32-0.003 "~ 2x3.14/4) x0.4 = 0.08
+ TAs120-3

(0.60x0.32-0.004 " 2x3.14/4) x1.8 = 0.35

T TAs131-4




£ b1 2 K ~F & B # =

* T

F13@As DPO. 80m 36.5+39. 7 16.2
+TAs 80-4 ¢ 100

#&As DPO. 98m 1.8 1.8
+TAs 98-4 ¢ 100

FEAs DP1. 15m(EH) | 8.6 8.6
+ TAs115-4 ¢ 100

¥EAs DP1.20m 0.4 0.4
+ TAs120-3 675

*&As DP1.31m 1.8 1.8
+ TAs131-4 ¢ 100

5EAs DP1. 40m (1) | 2.8 2.8
+ TAs140-4 ¢ 100

F&EAs 1.7 1.7
Col+T ¢ 100

FELF DPO. 80m 9.6 9.6
+ T4 80-4 ¢ 100

#tEAs DP1.20m 1 1
Rk Mg+ T G715 ¢ 75 el

TRI1E 2.8 2.8
AERLET H=1.80 W=1.00

As t=10cmiL T 77. 7+78. 9+69. 8+64. 4+54. 7+45.9 SEE AERR L Y = 391
SHEMRUIETT
TAI7M M R BHO. 28732 43, 7+4. 1+53. 1+29. 9-2. 50 x 3. 00 SEEEEREL Y (EHATER) = 123
EEEE - FAT t=15cmELF

BHO. 28 65
¥miEE T E+




[UIERE] HPPE  EEUE 6100 (AT No. 1
HYE ZYUE H RE | UIBT
1 2.80 0.60 1.44 4.84| 0.16] 3
2 0.50 3.200 0.50 0.50 4.70 0.30] 4
3 3.14 0.50 0.50 0.33 0.52 4.99 001 5
4 1.68 1.68 3.36| 1.64] 2
5 8.12 9.77| 17.89| 2.11| 14




% 2B # 5 &
% # A S * = "
17+1 -
BAT—h—RET




£ L7 2 K t & M 2
(% # B
103. 01-0. 402= 102. 61 102.6
RYIFLUERERMGT |¢100
1.22 1.22 1.2
RYUIFLUBRAT (@75
14+0 14.0 14
RUIFLUOBEYERT |¢100
kS 4+1+2+1 8.0 8
RYUIFLUE#MFT |¢100
A% 19+0+9+2+3+1 34.0 34
RYUIFLUE#MFT |¢100
A% 2+1 3.0 3
RYUIFLUEHFT (@5
& VIFLVE 0% 2+2+0 x 2+0+3 x 2 8.0 8
AHZAHILBFET ¢ 100
2 2.0 2
CAZHILBFET ¢ 100
tUIFLVE 1 1.0 1
AAZHAILBFRNT 6100
1 1.0 1
7S50 VMFT @15
AHB 3 3.0 3
HTUHFRET 100 2
VPF 1 1.0 1
K5 T Pd75x p75 &
4 4.0 4
HUARBEFET A B [ER{ER e
103.8 103. 83 103.8
EHRT—JI KimT-7"
103.8 103. 83 103.8

EHRV—FI




% =& ¢ e
T : it e
HURZE = 0293
5 = 1.508




£ b1 B K st & B =1 = B #H =
2 2.0 2
PVSafyk 3100 &
PEERMEESZ AW &1 3 3x0.134 = 0. 402 3.0 3
VI b= LR ¢ 100 ®
VPH 1 1x0.293 = 0.293 1.0 1
KB TFE b75%x p 75 =
7.5K SUS B.N.P 1 1.0 1
TS5 UDEAHM ®75 GF #H
(BEMELSY)
3+1 4.0 4
TUIHRE KLKH-52EK THP4RE& £ #8
XK 1E30mm 103. 01-0. 402+1. 51-0. 293= 103. 8 103. 8
EHET— 7 m
fUIFLYIER 870 F 103. 01-0. 402+1. 51-0. 293= 103. 8 103. 8
BERER— g 75mm o
17 17.0 17
BRlw—Hh— &
¢ 1004 & EE = 92. 890
BERE = 9.717
TtUHE = 0. 402
& = 103.009
¢ I5iIE &K ERE = 1.215




# = Bt " =
£ b1 B WK St & H =1 = B #H =
@ %KE HPPE®100 L[=103.0m ¢75 L=1.5m
(8 & #) EE H=E
HPPE (EFOf) AW | 15 + 4 15x5 000+17.89 =  92.890 19.0 19
FEKARY)IZFLUE |[0100x5. 0m &
AW 4 4.0 4
EFYS vy b ¢ 100 &
] 1 1.0 1
EFYS vy b ¢ 100 &
B 1+1+1+2+2+2 9x0.670 = 6. 030 9.0 9
EFEZAVE ¢ 100 x 45° B
B 2 2x0.535 = 1.070 2.0 2
EFEZAVE ¢ 75 x 45° B
B 1+1 2x0.520 = 1.040 2.0 2
EFEZAVE $100%22 1/2° &
B 1+1+1 3x 0. 450 = 1.350 3.0 3
EFEZAVE d100x 11 1/4° &
1+1 2x0.126 = 0252 2.0 2
EFF—X $100x ¢ 100 &
2 2x0.212 = 0.424 2.0
$100% ¢ 100 53U {Al fE
1 1x0.096 =  0.096 1.0 1
EFF—X ¢ 100 ¢ 50 B
1 1x0.410 = 0.410 1.0 1
EFLTa—Y ¢ 100 % ¢ 75 &
GF 1 1x0. 145 = 0145 1.0 1
EF25VU08E ®75 B
1 1x0. 380 =  0.380 1.0 1
W X AW gk ¢ 100 o




) £ &t L] &
% FR iz &K & &t g5 = By &% =
QKEHE HPPEREE 100 L=26.945m
(8 & #&) ER HE

1 0. 300+0. 764+0. 190 = 1.254 1. 1

R B2 & $100x300L x 45" x 764L x 45  190L x
1 1. 482 = 1. 482 1. 1

KU RREE $ 100 x 1496L *
1 5.000 = 5.000 1. 1

R)REEE @ 100 x 5000L x
1 5.114 = 5.114 1. 1

A {REFTE ¢ 100 x 5114L x ¢ 75 x 200H Z:S
1 2.893 = 2.893 1. 1

RYREBEE ¢ 100 x 2893L *
1 1.850+2. 000+1.830 = 5. 680 1. 1

R)REEE @ 100 x 5680L x
1 0. 755+0.519+0. 140 = 1.414 1. 1

= JRE28hE $100x 7550 x 22 1/2° x 5191 x 22 1/2° x 140L .
1 0.250+2. 718+1. 140 = 4.108 1. 1

= JRE28hE $100%250Lx 22 1/2° x2718Lx 22 1/2 x 1140L .
b 25 1 1. 1

T BENA—f %
¢ 100 1 1x0.020 = 0.020 1. 1

BIESHT # VTV () X JIFLYE (AN) &

(BEMELSY)

200A x 1500L 1 1. 1

REH/N—(SUS304) RV b-F v bED 18
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# 1 B WK st & H g =® BHil & =
$S400 18 18.0 18
XE€E AR E R S #H
2 2.0 2
47 B5 AL R 200AF #H
1 1.0 1
2y EHIEEH (EZEY)dket v b fy b
Kim 1E30mm 0.3+1.14 1.44
EHRT—F m
BYIFLVINR 87 F 0.3+1.14 1.44
BERER— g 75mm m

® 100 & KEHE = 26.945
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£ b1 B K st & B = B #H =
(7 # #&)
1 1.0 1
A E =
1 1.0 1
FEIT =
1 1.0 1
REERET 200A =
18 18.0 18
AREIEHSEEMT 200A E03il
i 7.0 i
BEELI @EES) $ 100 E03il
i 7.0 i
INhiESEHRET PHE-REH -V - RBESD BFr
i 7.0 Ji
EhiESHEET PE L E03il
1 1.0 1
ERFHZREL $25 REAN—BBEAE el
1 1.0 1
ATVVARUR#E AN -E8E T [200A x 15001 E03il
1 1.0 1
PPy 3{VIERET ¢ 100 E03il
1 1.0 1
RE% R RIS GRE - #iE) [20. 5m X 0. 9ImilE 2
1 1.0 1
a7FAT ¢ 300 x 500L i
1.44 1.44 1.4
EBRET—JIL KimT-7 m
1.44 1.44 1.4
EHHR—FT m
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4 L7 2 K & & =1 X B 2
QEHHFET N=-1 F
# H #) EE e
NCP 2 BRATEEREICETL 2x1.200 = 2. 400 2.
FRI2S50VEE 100A x 1200L 10k GF piN
NCP 1 BRATEERICETL 1x0.200 = 0.200 1.
{RHEHEF 100A x 200L+=30 10k RF 1@
I 1 BRATEERICETL 1x0.052 = 0.052 1.
BN ITSAF 100A  ON-OFF il % &
1 BRETEEEICELE 1.
2oV V%EM ¢ 100 i
I/ N—FA 1 BRETEEEICF L 1.
2oV V%EM ¢ 100 i
g M L o5
1 1. 1
2B VR—IVERR 54 4%1450 x 150H A
1 1. 1
2 Ek-MERAE7 0y) | 1200 x 1200H I
1 1. 1
2853 kR—)L§ e ¢ 1200 x ¢ 600 x 300H A
1 1. 1
REEY VY ¢ 600 x 100H I
1 1. 1
RELE 45mm -
FCD ¢ 600 1 1. 1
IUR—ILE 1-25 i
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= =
% 5 f K <t & : T
(% B #)
1.0
1B7 U R— LEET -
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# 1 B K & H = =® BHil & =
(x I
TRI2E 3.0 = 3.0
AEBREETL H=2.10 W=2.50 m
XHRIMGL 2.5 = 2.5
AEBREETL H=2.10 m
As  t=10cmLL T EKEMFRICETL =
M OX R OY OB T m
7277 Wb & % BR|BHO. 28%&5A 2.5%3.0 = 7.50
EEIEH - FATI m?
BHO. 28m® &t 14. 88
BEWIERITEAT m®
1.45%x1.45%0.2 = 0.42
2.5x3.0x1.93 = 14. 48
AEHT=mEMY (2.50%3.00-0.72"2x3.14x1/4) x0.04 = 0.28
SHEER A 2.5x3.0x0.04 = 0.30
RC40~0 1.45x1.45 = 2.10
E # B A I|t=20cm 2
£TRRETF 1.2072x3.14/4-0. 40x 0. 40 = 0.97
BiAKEILZIET £=30mm I
INEY ait 0. 31
avyy—rIT 18-8-25BB  W/G60% m®
0.60x0.60x0.33x%x2 = 0.24
FHE&EavHY -}
0.40x0.40x0.475 = 0.08
zELavh)-
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m B % B &

£ L7 2 K & Hi =1 =® By #% =2
A0.11472x3.14/4%x0.33x2 = 0.01
EER
(0. 60 % 0. 36 x 2+0. 60 x (0. 36+0. 30) /2+0. 60 % 0. 60-0. 12°2x 3. 14x 1/4) x 2+0. 4% 0. 475 x 4 = 2.72 3
i INEY m?’
BHO. 28m? = 0.66 1
2 i SAVENEM; LY 3
((0.60+0.20)/2x0.32-0.12"2x3.14/4) x0.5%x 2 = 0.12
((0.48+0.80) x1/2%x0.30-0.12"2x3.14/4) x3.0 = 0.54
BHO. 28m? it 9.16 9
i R I|REL 3
2.5%x3.0%x1.65 = 12.38
A1.45"2x3.14/4x0.165 = 0.27
Wik-VE AR 2B
A1.4072x3.14/4x1.30 = 2.00
Yk-I R
A (1.4072+0.9072) x3.14/4/2x0.195 = 0. 21
Yk-I R
A (0.60+0.20)/2x0.32x0.5x24 (0.48+0.80)/2x0.32x3.0 = 0.74
i R R
t=28cm A =
i - BB
E51. 8mil Lt 2.50x3.00-0.82"2x3.14x1/4 = 6.97 7
B & #z T|RCAOLLT t=14cm .
E51. 8mil Lt 2.50x3.00-0.82"2x3.14x1/4 = 6.97 7
B B #2 T|MOLLT t=l4cm 2
BAERAEAs (20F) 2.50x3.00-0.72"2x3.14x1/4 = 7.09 7
E] T|t=bcm W=1.4m 2
BHO. 28m*& 14.88-9. 16 = 5.72 6
% + & # T |DIDE 2t-10km 3
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2

o

Gl

£ G e k<
AsiE BHO. 27852 28.8x0.04 1
B O+ o B T|4t-3. 0kmATF
28.8x0.04 1
FAI77I) RS
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# = - E
# E 720 7 NI B ~ =1 = B =
@ HERE HPPE®S50 L= 0.8m  HIWP@50 L=3.1m
# # BB ZEE =
HPPE (7" L-yIub ) AW| O+ 0x5.000+0.500 = 0. 500 1. 1
FAKBARYUIFLUOE $50%5. 0m S
K E R & B EHIVP O b-vIvh) 0+1 0x4.000+2.800 = 2.800 1. 1
BB EILE - )& d50x4 0m &
1 1. 1
EFY4S Y bk $50 &
BKEIZE E 1 1x0.177 = 0.177 1.
EFF—X d100% 50 Husza &
PxVERm= AN S| 1 1x0.102 = 0.102 1. 1
VI kY — L FH| 50 &
4 4x0.066 = 0. 264 4. 4
HITSIJ)AK ¢ 50 x 90° 1&
(EME LS
RIS 1 1. 1
HYE % KNGH-52EK THP4EE& -
K H230mm 0. 779+3. 064-0. 102-0. 159= 3. 3.6
ERHRET—7 m
FUIFLVIOR 47 F 0. 779+3. 064-0. 102-0. 159= 3. 3.6
BERIESR S — b & 75mm m
1 1. 1
BRlT—H— &
HPPEZE £ EE = 0. 500
EWRE = 0.177




belm

C E B

TUHF = 0.102

HPPEEER &t = 0.779

HIVPIE & EE = 2. 800
EvE = 0.264

HIVPEE & 3. 064

o
—+
I

belo




® =  ;
% FR 2 K+ & X -_Eiv2 =
(7 # #)
0.779-0. 102 0.68 0.7
RUIFLUEREAT 950 m
1 1.0 1
RUIFLUEYMT |$50 O
%2 1 1.0 1
RUIFLUBEHRFT 950 B Fr
¥ IIFLVE 1 1.0 1
AN=HNBFT ¢ 50 O
1 1.0 1
AN=HNBFT ¢ 50 O
3. 064 3.06 3.1
E-LEREGT ¢ 50 m
4 4.0 4
EZLEYT ¢ 50 O
4x2 8.0 8
TS#AF T ¢ 50 O
AR 1 1.0 1
YU HEHRET ¢ 50 e
1 1.0 1
Y HRWERE T A BR¢ EMR{EMR B Fr
3.6 3.58 3.6
ERRT—IT KimT-7"  ¢50 m
3.6 3.58 3.6
EBHRY—FT m
1 1.0 1
BAT—H—FET B Fr




5 = i -1 g
£ L 2 K T & H =1 = B{ =
(x 1
#f3&As DPO. 80m 3.5 = 3.5 3.5
T TAs 80-2 ¢ 50 m
As t=15cmLAF 0.0 EKEMZICELE = .00 0
8 OE M U BT m
7277 b b & % hR|BHO. 287552 0.0 EKERFXICELE = .00 0
B A - A T[As t=10cmELF m2
BHO. 28m3 a5t 90 2
- A - | = o | 5 m3
0.60x0.92x3.5 = .90
T TAs 80-2
BHO. 28m3 a5t .54 1
oy 18 E|yyvay AR m3
(0.60x0.26-0.060 " 2x3.14/4) x3.5 = .54
T TAs 80-2
BHO. 28m3 a5t .88 1
HET 4+ m3
0.60x0.42x3.5 = .88
T TAs 80-2
121, 8mKk ik 0.0 EKERFXICELE = .00 0
T B B f&2 T|RCAOLLF t=14cm 9
121, 8mKk ik 0.0 EKERFXICELE = .00 0
+r B B fig T|WMOLLF t=14cm m2
121, 8mKk ik 0.0 EKERFXICELE = .00 0
T E5 B F|HEMEL m2
BAEZHIEAs (20F) 0.0 EKEMFZICELE = .00 0
= B T|t=4cm 1. 4m<N 9
BHO. 28m3%& 1.90 - 0.88 - 0.00 = .02 1
B 1+ & f#& T|DIDE 2t-10km m3
AsBE  BHO. 252 0.00 x 0. 04 EKEMFICELE = .00 0.0
B O+ o 138 T|2t-4.5kmLLTF m3
0.00 EKEMFICELE = .00 0.0
FAI7I FRUNEE m3




FE-3 HPPE  FEURE 650 (7" b-vIvt') No. 1

)| & H RE |UKT

0.50 0.50[ 4.50[ 1

0.50[ 0.50[ 4.50{ 1

E] HIVP  IEUE  ¢50 (" b-vIvh)

)| & H RE | UKL

0.74 1.70 0.15 0.21 2.80 1.20[ 4

2.80, 2.80f 1.20] 4




% i B K T & B E Eifu =
BEEE & E A ry—
kY BKETE .
¢ 100~ ¢ 50 (103. 0+1. 5+26. 9+0. 8+3. 1) / =
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